Fa40m 2EAJIIFLHEBISYOKRE REK

TM4E58298(B)

#H 5km AE—PEEZ
IR)—202%
10/05%
EBFY Hwae _ _
EBFY No K& ) SR FiiE
=2 o8k
1| 5004 | LLEO #8100 0:23:19 ElShi
INEERTF 2| 5019 | JESp &k 0:23:36 | BRE2MT Hh{EHyh—RARD
3| 5005 | /Mk HFH 0:23:54 ElShi
INEHEZF 1| 5102 | #E:E #EKRE 0:26:59 | fRZEMET RE/NL—R—ILRRD
1| 5202 | 548 A 0:17:12 HiRT
g RF 2| 5201 | i HE 0:18:24 | EiE™H
3| 5220 | EEP #K 0:20:.07 | fREEHT BRE hepii 2 FE 240
1| 5302 | #aA Fik 0:22:07 TG ET AT dLER{= WMD
Rt F 2 | 5307 | ZBf% ME 0:26:58 | AREZHT hEhER2E 14
3| 5311 | Fith (B 0:27:36 | fRZe BRE h R 3E 248
1] 5401 | fE”K &£ 0:18:12 S EH SENEEE!
R — B FGBIRUT) 2| 5403 | FiF & 0:26:07 | BRE2MET
3| 5408 | ™ EEH 0:27:06 | & ST
B —BLFGBIRUT) 1| 5501 | A & 0:27:33 =1
1| 5608 | /NEE =7 0:1805 | &
—h% B F (40~59 %) 2| 5623 | Rig & 0:18:21 L
3| 5602 | BA FE 0:18:44 HE™
1| 5714 | B AEF 0:27:26 KR HBAEHTHINL
—fE % F (40~59 %) 2| 5705 | ¥ E£HE 0:31:06 HiE™
3| 5717 | EH ¥ 0:31:27 | BRE2MET REFERBE
1| 5802 | #iK BA— 0:19:48 | Ka][RHET
— BB F (60 mLLE) 2| 5801 | ik Es 0:20:28 | &t ETH B rfE EER
3| 5808 | 8K KEE 0:22:23 | FENMET
—f&Z&F (60 L) 1| 5901 | B=H LF 0:33:43 R




